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GENERAL INSTRAUCTIONS TO THE EXAMINEES
1. et YL 31U I U UR ATHD JTfraria: ford |

Candidate must write frist hid/ her Roll on the question paper compulsory.

2399 g Sifvard € |

All the questions are compulsory.

3. YD U Pl IR ol g IR YRGS 7 & fored |

Write the answer to each question in the given answer sheet only.

N

4.1
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T g # SdRd Wus g I 9l & IO¥ Uh A1 o ford |

For question having more than one part, the answers to those parts are to be written togeather in

continuity.

5. U BT IR foree 9 qd U &1 $HAid raeg fored |

Write down the serial number of the question before attempting it.

6. U3 UF & Bl 9 IUSH wUR H &l gBpR @1 Ffe /R / R 8 R 2=l

YT & U2 HI B el 9 |

If there is any error/difference/contradiction in Hindi & English versions of the question paper, the
question of Hindi versions should be treated valid.

7. T AT 3fb ufdl ued EENEIRIEESIG

1—10 1 10—20 Words
11—18 2 20—30 Words
19—27 4 50—60 Words

28,29,30 6 200—250 Words

Que. no. Marks per Que. Word Limit of ans.

1—10 1 10—20 Words
11—18 2 20—30 Words
19—27 4 50—60 Words

28,29,30 6 200—250 Words

8. U T 28,29 AT 30 § <RSP [dhoyd 2 |

There are internal choices in Q. No. 28,29 and Q.No 30.
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Section- A

1. NI BT TP b AT ST % ?

Who is the Father of Economics ? 01
2. '’ g ‘FARE' W] BT YAN HAYLH He fbar 1ar ?

When were the words 'Micro' and 'Macro' first used ? 01
3. 3AER NI A 37U FIT FHSI & 7

What do you understand by opportunity cost ? 01
4. JTBIA H T 3T & ?

What is meant by shortrun ? 01
5. ISl eI Tl @Il & 7

What is the capital intensive technique ? 01
6. AR a1 gRATST foaRey |

Write the definition of market. 01

7. RA ¥ A T S A DI AT A6 YBIRIT BT 8 2

Which organization publishes the Nationals Income estimation in India ? 01

8. OX 3T & ABIHR YdIg Hieed & Uh &3 P A fe1Rgy |

Write the name of one sector of circular flow of income model. 01

9. WG] K] BT Blg Udh IATER0T (TR |

Write one example of an intermediate good. 01
10. ToRG °TC BT 7 foRau |
Write the formula of revenue deficit. 01
gug ()
Section- B

11, ‘A’ Td e’ e | dis g 3R Jdrsd |

Mention any two differences between 'Micro and "Macro' Economics. I+1= 02

12. deXIAT AFRE T8y ?
Draw an indifference map. 02

13. gof Gferarar aoiR &7 alRaIfd ST |

Define the perfect competition matket. 02
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14. 9IGIR BT IR Fhdol 8] IUTE (GDP Mp) ST &R &1 A foriRay |

Write the formula of Gross Domestic product at market price (GDP mp).

Apply Now

02

15. AR IR BT W Y& TSI STUTE(NNPMP) 2000 FRI€ I 7, YT H(IT)

150 BRIS WY TAT JAIEF(S) 50 BRIe w7, AT AEF ANd R Yg IS
IUTE(NNPFC) ST DITTY |

If Net National Product at market price(NNPmp) is Rs. 2000 crore indirect tax (IT) Rs. 150 crore and

subsidy(S) is Rs. 50 crore, calculate Net National Product at factor cost(NNPFC).

02
16. AT AT SUMRT U9 0.80 © T U P A ST DI |
If the marginal propensity to consume (MPC) is 0.80, calculate the value of multiplier. 02
17. T 3R I H AR HITIY |
Differenciate between devaluation and revaluation. 02
18. TA=feTRad &1 grT - forRag—
(i) BHIM (i))USSD
Write the full form of the following-
(i) BHIM (i))USSD 1+1= 02
v ()
Section- C
19. ART G & fdac &I @I & ARl 4 WK I |
Explain the shifts of demand curve with the help of diagrams. 2+2=04
20. B 7S AR ¥ 3rsd Nd ReR aFTd, 3iad uRad! ofiTd, 3icddhlel 3iad
JANTA 3R STdTel AT AR i 1 TOMT HITTY |
fa | @ Rer ol | ol AN | 3 AT | ITBIA | JSTbTeA
(gorean) | @rra | uRed Rer oRedt | offa | <imr
0 0 0 20 — — — -
01 20 30 50 20 30 50 ?
02 20 45 65 ? 22.50 ? 15
03 20 55 75 6.66 ? 25 10
From the given table calculate the missing average fixed cost, average variable cost, short
term average cost and short term marginal cost. 1+1+1+1 =04
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Ourput TFC TVC TC AFC AVC SAC SMC
(units)

0 0 0 20 - - — -

01 20 30 50 20 30 50 ?

02 20 45 65 ? 22.50 ? 15

03 20 55 75 6.66 ? 25 10

21. [AGfa A 96 BT RF o FErar 9 GHsg | Apply Now
Explain the kinked demand curve with the help of a diagram. 2+2=04
22. MY UHIMTHR R A il ? fhgl IR d@l B Iooid DIy |

Which market would be monopoly market according to you ? Mention any four factors. 1x4=04
23. 95T 3 @1 R &R | foriRay |

Write the definition and foumula of private income . 2+2=04

24. 21 & DIs IR dR foIfy |
Write any four functions of money. 1x4=04

25. 3refegeRelT H e TR a3 100 BRIS wWUY © 3R AT gAT IUFNT Bl

C =80 +0.75Y & Tl 3 BT AR R FT 81T |
Find the income equilibrium level when given consumption function is C =80 +0.75Y
and autonomous investment is Rs. 100 crore in economy ? 04

26. FHY ANT ¥ AT 3 & ? FHY AT b Dl FedRl @iierd A Iy |

What do you meant by aggregate demand ? Derive an aggregate demand curve by

diagram. 2+2=04
27. 37U ATAR HRMSE I AR FT MAILIS & ? Py aR BRI MY |
Why ineternational trade is necessary according to you ? give any four resons. 1x4=04
o ()
Section- D
28. | BI Ard BT YRHINT BIRTY | AT BT A A0 B SATHAT Ay
BT G B AEId A qH8Y |
Define the elasticity of demand. Explain the geometrical method to measure the elasticity
of demand with the help of a diagram. 2+42+2=06

irar OR

Gl IYATRIET AR HHT START BT GRETT SITT | FHol ITARAT AR HHA=T
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SUARTAT & Gee DI NI BT Tl H W BT |

Give definitions of total utility and marginal utility. Explain the releactionship between

total utility and marginal utility with the help of a diagram. 2+2+2=06

29. 99TR YR T ARV BT Y BIed=dh qTIdT B ARIar | qASgY |

Explain the concept of market supply with the help of imaginary table. 4+2 =06
grrar OR

RTINS uTdl & =\ BT X & Gl § ARAT DI |

Explain the law of variable proportion with the help of diagram. 4+2 =06
30. ARG d&% & bl B BT $I AR q I BT |

Describe any six functions of commercial banks. 1x6=06
grrar OR

BT 96 GRT ARG 0T & 1T e O aTel fohes! ©: Surat @ fad=r

I |

Discuss any Six methods of credit control used by a central bank. 1x6= 06
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